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Peaking Amplifier
Amplifier Gain is given as

𝐴𝑃 = −
𝑅𝐹||𝑍𝐿𝐶

𝑅

Where 𝑍𝐿𝐶 = 𝐿||𝐶, which is given as
1

𝑍𝐿𝐶
=

1

𝑗𝜔𝐿
+ 𝑗𝜔𝐶

𝑍𝐿𝐶 =
𝑗𝜔𝐿

1 − 𝜔2𝐿𝐶

Resonant frequency of parallel 𝐿𝐶 network is given as

1 − 𝜔2𝐿𝐶 = 0 → 𝜔2 = 𝐿𝐶

𝒇𝑷 =
𝟏

𝟐𝝅 𝑳𝑪

𝑉𝑖𝑛



Peaking Amplifier
At resonant frequency, impedance 𝑍𝐿𝐶 = ∞ and the amplifier
gain becomes

𝑨𝑷 = −
𝑹𝑭
𝑹

Gain of the amplifier maximizes at a resonant frequency.

Q-factors of 𝐶 and 𝐿 are given as
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, and 𝑄 =

𝑅
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Q-factor of parallel 𝐿𝐶 network is given by multiplication
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